Homework 9

Develop a similar algorithm for 8-connectivity.

Student: Bo Han

Solution: 

Give the following matrix BW:

     1     1     1     0     0     0     0     0

     1     1     1     0     1     1     0     0

     1     1     1     0     1     1     0     0

     1     1     1     0     0     0     1     0

     1     1     1     0     0     0     1     0

     1     1     1     0     0     0     1     0

     1     1     1     0     0     1     1     0

     1     1     1     0     0     0     0     0

I design a program to find the “neighbors” by scanning the matrix. The following results is as below,

     1     1     1     0     0     0     0     0

     1     1     1     0     2     2     0     0

     1     1     1     0     2     2     0     0

     1     1     1     0     0     0     2     0

     1     1     1     0     0     0     2     0

     1     1     1     0     0     0     2     0

     1     1     1     0     0     2     2     0

     1     1     1     0     0     0     0     0

This result is the same as the output of a toolbox function bwlabel(BW,8), which shows the correctness of my algorithm.


